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SHIMOE ER®ROE ERATI0ER D E
BHA ] B Ll BRA THoiEa~ey | TR22(H233115E) FRI3EE
~264FBESE4PN 4 3 ~224F f§(H23.3.10)
LhEM /I 0034 ~ 0052 | 0020 ~  0.069 —
AT HMEERE 0017 ~ 0022 | 0004 ~ 0029 —
LB NEE 0019 ~ 0028 | 0006 ~ 031 —
IR KPFH L 0027 ~ 0036 | 0012 ~ 0039 —
[EE A 0025 ~ 0038 | 0009 ~  0.046 0010 ~ 0042
= [l = 0020 ~ 0034 | 0011 ~ 0041 0.009 ~ 0.048
$at T NHNA FHA 0033 ~ 0042 | 0010 ~  0.049 —
é%gfgfg) Ba/m 'R KEERT KBy 0010~ 0023 | 0009 ~ 0039 | 0010 ~ 0045
a KHERT KR 0014 ~ 0024 | 0011 ~ 0058 0.007 _~ 0076
R ETIEE 0014 ~ 0019 | 0007 ~  0.036 0.008 ~  0.040
RITHT stHis 0023 ~ 0.034 — —
JRITHE K#iF L 0044 ~ 0063 | 0025 ~  0.061
PEH B5 0052 ~ 0073 | 0016 ~ 0088 —
miEET SRR 0021 ~ 0028 | 0011 ~  0.030 —
P MP-1 0017 _~ 0021 | 0008 ~ 0035 0.006 _~  0.030
MP-7 0014 ~ 0023 | 0009 ~ 0028 0.005 ~  0.026
LbhEm /M 0050 ~ 0069 | 0035 ~  0.084 ~
AT HMEERE 0031~ 0037 | 0017 ~ 0047 ~
LEFET NEE 0034 ~ 0045 | 0021 ~  0.047 ~
IR KPFH L 0041 _~  0.051 0.026 ~  0.054 ~
[EEL A 0052 ~ 0072 | 0036 ~ 1.0 0022 ~ 0072
= [l = 0039 ~ 0055 | 0035 ~ 2.0 0021 ~ 0074
St 5@ e NAFE TR 0047 ~ 0056 | 0024 ~ 0072 —
é%g%ﬁg) Ba/m 'R KEERT KB 0038 __~ 0051 | 0033 ~ 0.2 0023 _~ 0079
a KHERT KR 0082 ~ 0098 | 0067 ~  0.17 0019 ~ 012
RETIEE 0033  ~  0.041 0023 ~ 0072 0018 ~  0.068
RITHT stHis 0042 ~ 0.059 — —
JRITHE K#iF L 0066 ~ 0086 | 0046 ~  0.085 —
PEH B5 0075 ~ 0099 | 0033 ~  0.12 —
miEET SRR 0034 ~ 0042 | 0024 ~ 0044 —
P MP-1 0032 ~ 0039 | 0021 ~  0.061 0.020 ~ 0.058
MP-7 0029 ~ 0010 | 0022 ~ 0051 0019 ~ 0.049
WhEth/MI ND ND —
HBfiT HMEERE ND ND —
éﬂé]”ﬂﬂ jlql\iﬂé;li ND ND —
N BT KP4 L ND ND —
ARRBLA [EEL A ND ~ 0.088 ND  ~ 580 ND
= [l = 0080 ~  0.091 0059 ~ 1,100 ND
JIARF_FINA ND ND —
KEERT K% ND  ~ 019 ND  ~ 38 ND
KHERT KR 011~ 014 ND  ~ 2.0 ND
WEEET ERLL 012 ~ 017 0048~ 6.5 ND
RITHT stHis ND — —
SRUTHT KoL ND ND  ~  0.058 —
BEENM 55 ND ~ 0.070 ND —
FmiEEm KRR ND ND —
KHERT [A)4H ND  ~ 0.1 — —
KHEERT K% ND  ~ 0.093 —
WEEET (LA 0089 ~ 0.18 — —
P! RETIEE A 0094 ~ 012 — —
m= ﬂlig EHE 0078 _~__ 0.10 = ~
_ 3 LbhEm AT ND ND =
Cs7134 | mBq/m BiT BHR ND N~ i =
BT FAtE ND ND  ~ 1.3 —
IR EINA ND ND ~ 1.6 —
EEM %& ND ND  ~ 1.3 —
miEEnm 55 ND  ~ 0097 ND  ~ 045 —
miEET KAF ND ND  ~ 1.3 —
IR FRFER ND ~ 0073 ND  ~ 1.1 —
JIURET ILKRE ND ~ 014 ND  ~ 1.3 —
WhEt /MR ND ND —
WhEh F ND ND —
LWhEh Mg ND ND —
LWhEm =0 ND  ~ 0.043 ND  ~  0.065 —
it &R ND ND —
Bt M5l ND ND —
Hiihm % ND ND —
miEET ER ND  ~ 0.064 ND  ~ 2.0 —
. MP-3 10~ 12 43~ 88 ND
RR% MP—-8 31~ 317 16~ 37 ND
EEE— MP-1 0010 _~ 0013 ND  ~ 036 ND
MP-7 ND  ~  0.08 ND  ~ 075 ND
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FRL2744~6R ~26EEEAMER | ~22%B(H23.3.10)
Wbt/ ND ND —
Hih HESEF ND ND =
ILEFET NEE ND ND —
BWEH KEZ L ND ND =
[EEL A 0078 ~ 028 ND  ~ 520 ND
=R = 026 ~ 032 013  ~ 990 ND
A% _FINA ND ND —
KEERT K% 015 ~ 081 0067 -~ 39 ND
KHERT KR 044 ~ 051 012 ~ 55 ND
WEERT ARl 049 ~ 068 0.1 ~ 7.6 ND
JRITHT #iHiE ND ~ 0074 — —
SEUTHT Kthd L 012 ~ 017 ND  ~ 013 —
EEN 55 ND  ~ 023 ND  ~ 006 —
miEET RiR ND  ~ 0072 ND  ~ 005 —
AREET [ 026 ~ 041 — =
XHRERT K% 020 ~ 030 — —
WEEE LE 029 ~ 061 — =
EEE WEERT FIl 030 ~ 047 — —
WEE EPE 025 ~ 034 — =
RRF#HECA | Cs-137 mBa/m® WhE JIE ND ~ 0051 ND ~ 025 -
HiH EHR ND ND  ~ 1.4 —
LB FdE ND ND ~ 18 ND
A A ND  ~ 0048 ND ~ 23 —
EEM Z& ND ND  ~ 15 —
miEETm 5 0.038 ~ 043 ND  ~ 1.2 —
EHEET KAF ND ~ 034 ND ~ 18 —
SREEH IR 0.080 ~ 030 ND  ~ 2.1 —
JIMRET IWARE 0069 ~ 046 ND  ~ 1.4 —
LWhEh Mk ND ~ 0.036 ND  ~ 0028 —
Wbzt F ND  ~  0.049 ND  ~ 070 —
WhEh mE ND  ~ 0.060 ND  ~ 0073 —
LWhEm = ND ~ 014 ND  ~  0.18 —
AT ER ND ND  ~ 0043 —
Hih M5l ND _ ~  0.050 ND  ~  0.040 —
HiH E# ND  ~ 030 ND  ~  0.061 —
miEET ER 0035 ~ 023 ND  ~ 2.3 —
. MP-3 44 10~ 200 ND
BE% MP-8 11 ~ 13 26  ~ 67 ND
EEE— MP-1 0022 ~ 0046 | 0025 ~ 055 ND
MP-7 0.010 ~ 0.028 ND  ~ 1.1 ND
WhEM JIET ND ND  ~ 110 —
LWhEh AZE ND ND  ~ 180 —
AAH #REE ND  ~ 70 ND ~ 540 —
LB FALE ND  ~ 17 ND  ~ 240 —
[EELEE A ND ~ 55 ND  ~ 390 —
@A = 17 ~ 53 ND _ ~ 940,000 ND
A% _EINA ND ND  ~ 620 —
N PN 16 ~ 92 22 ~ 5,000,000 ND
Cs-134 [ MBa/km2 =EER TUEERT AL 63 ~ 100 7.0 ~ 8,000 —
JRITHT GRIT ND  ~ 10 ND  ~ 910 —
JRITH 2B 14 ~ 32 ND ~ 940 —
EEM #E ND ~ 81 ND  ~ 2900 —
miEEm 55 ND  ~ 28 ND  ~ 150 —
mEET &R ND  ~ 12 ND  ~ 37 —
ST [RET ND ~ 42 ND  ~ 220 —
fREEM IR ND  ~ 15 ND  ~ 680 —
ST NHRET LAKE 13 ~ 17 ND  ~ 2100 —
LbhE JIED ND  ~ 22 ND  ~ 200 —
WhEth Az ND ND  ~ 240 —
HAAtt #EE 16 ~ 24 ND  ~ 650 —
LEET L ND  ~ 70 ND  ~ 340 —
RIERT 5K 12 ~ 19 ND  ~ 770 —
L] 5~ 210 31 ~ 1,000,000 —
JIAM EIR ND ND  ~ 880 —
KHERT K% 60 ~ 340 62 ~ 5600000 ND ~ 0.3
Cs-137 MBq/km2 =mER WEERT ERIL 240 ~ 410 21 ~ 12,000 ND ~ 015
SRITHT SRIT 39 ~ 45 ND  ~ 1,900 —
JRITHT 25 60 ~ 110 71 ~ 1,100 —
EEH R 24~ 280 72~ 4200
mEET 515 ND ~ 100 ND  ~ 1,400 —
mEEh t8iE 20~ 48 ND  ~ 600 —
ST [RET ND  ~ 14 ND  ~ 350 —
SREER FFHR ND  ~ 54 ND  ~ 680 —
NIRRT LIARRE 39 ~ 712 ND _ ~ 4000 —




SHEOHE ER®ROE HRAT104ER D IE
BUbE wa Mé e BRE TRR274E4~6H ERR22 (H23.3.11 L0 [8) ERI3EE
~264F BESE4P 3 3 ~224F f§(H23.3.10)
WhEm ND ND —
EESh ND ND —
L E7ET ND ND ND
HREEE] ND ND ND
= [ BT ND ND ND
JIRA ND ND ND
Cs-134 Ba/2 =EER PN - - ND
MEERT - - ND
JRITHET ND ND ND
EEM ND ND -
ST ND ND —
EREEA ND ND  ~ 017 —
JIH{Z BT ND ND -
LWhEmh ND ND —
BFH ND ND —
L E7RT ND ND  ~  0.050 ND
[EEN ND ND ND
= AT 0.057 ND ND
JUAF ND ND ND
K Cs-137 Bq/2 EEE X BERT - - ND
MEERT - - ND
SRITHET ND ND  ~  0.058 ND
EER ND ND  ~  0.058 —
EEEh ND ND —
REEAT ND ND  ~  0.290 —
JI{EHT ND ND —
WhETh ND 036 ~ 072 —
A#h ND ND  ~ 079 —
I B BT ND ND  ~ 0.75 ND  ~ 1.0
e 0.46 033 ~ 096 ND ~ 098
= [t BT ND 035 ~ 045 ND  ~ 099
LS ND ND  ~ 0.57 -
H-3 Ba/2 =EER A HEHT - - ND  ~ 1.2
WEERT - - ND  ~ 11
SRITHT ND ND ~ 087 ND  ~ 1.0
EEH ND ND ~ 069 —
EHRET 0.35 ND _~ 051 ND ~ 082
fRERH 0.69 050 ~ 087 —
JI{ZET 0.44 ND _~ 090 —
F—FmBkO ND ND _~ 080 ND
F—F)dBoko ND ND  ~ 24 ND
F—F)EUKO ND ND  ~ 096 ND
EEE F—(F)HPE2km ND ND ND
- R - BE)IH2km ND ND  ~  0.094 ND
WEE - BT EH ) 2km ND ND =
n E_(F)mmBokO ND ND  ~ 020 ND
Ce7134 | Ba/k %= (32)iLBokD ND N ~ 012 ND
ok O 0.041 10~ 45 ND
BEEE— BRUKO R 0.16 ND _ ~ 76 ND
LRk AR 0.096 ND ~ 8.2 ND
kO ND ND ~ 0.36 ND
w/E®- Eka ND ND  ~ 035 ND
ek O ND ND  ~ 0.23 ND
F—FmBikO ND ND  ~ 1.8 ND  ~  0.002
F—F)dtmokO ND ND  ~ 5.0 ND ~ 0.003
F—FEUKO ND ND  ~ 2.1 ND  ~  0.002
P! E—F)iPE2km ND  ~ 0054 ND  ~ 013 ND  ~ 0.002
- KR - BE)I1H2km ND ND ~ 018 ND  ~  0.002
ﬂﬁ'ﬁﬁﬂ%%ﬁq’ﬁkm ND ND  ~ 019 ND ~ -
_ B (G mmuKkD ND ND  ~ 020 ND  ~ 0003
Bk Cs=137 Ba/ %= (3)dtiHoko ND ND__~ 013 ND___~ 0002
ok O 0.20 32 ~ 72 ND  ~  0.003
BEE— ARk fHE 0.58 ND  ~ 110 ND ~ 0.003
LRk AR 0.38 ND ~ 13 ND  ~  0.002
BkO ND 0064 ~ _ 0.70 ND  ~ 0.003
w/E®EZ Eka ND ND  ~ 1.1 ND _~ 0.003
ek O ND 0079 ~ 0.47 ND  ~ 0.002
F—FmBikO ND ND  ~ 24 ND  ~ 055
F—F)dtmokO ND ND  ~ 2.5 ND  ~ 12
F—F)EUKO ND ND  ~ 6.2 ND ~ 058
P! F—(F)HPE2km ND ND ~ 058 ND ~ 067
- KR - BE)I1H2km ND ND ~ 053 ND  ~ 041
EE - BT ) H2km ND ND  ~ 091 -
H-3 Ba/t E_GmmBukn ND ND ~ 056 ND ~ 076
F_F)idtmokO ND ND ~ 056 ND  ~ 11
ok O ND 96 ~ 340 ND  ~ 067
BEEE— BRUKO R ND ND _ ~ 6.8 ND  ~ 055
LRk AR 0.44 ND  ~ 98 ND  ~ 062
kO ND ND ND ~ 057
BEE= EokO ND ND ND___~ 0.7
JeikO ND ND ND  ~ 047




SHEOHE ER®ROE HRAT104ER D IE
BHA ] B Ll BRA THoiEa~ey | TR22(H233115E) FRI3EE
~264F BESE4P 3 3 ~224F f§(H23.3.10)
F—F)mmpokO 0004 ~ 0015 | 0003 ~  0.69 —
E—F)dmBokO 0002 ~ 0046 | 0002 ~ 0.78 —
F—(FEUkO 0002 ~ 0008 | 0003 ~ 2.9 ND  ~ 0.002
EaE F—(F)H & 2km 0001~ 0005 | 0001 ~ 026 —
- FiR - BE I 2km 0001 ~ 0003 | 0001 ~ 0.027 —
nﬁ-ﬁﬁﬂ% 1132km 0002 ~ 0003 | 0001 ~  0.094 —
_ F_FmBokO 0.001 0.001T _~ 0034 —
Sr-90 Ba/t = —(3R)ItBukO 0.001 0003 _~ _ 0033 =
~ H ok O — 21 0.001 __~ 0.003
wEE— MUK AR — 0005 ~ 0031 0.001 __~ 0.003
ROk R — 068 -~ 12 —
B Bk — 0004 ~ 0014 0.001 __~ 0.002
BEEZ Eroka — 0005 ~ 0012 —
ek — 0003 ~ 0011 0.001 __~ 0.003
ok E—F)mmBkO AER ND —
E—F)ekKkO AE R ND =
%’—(%)iwkl:l ,ﬁE 3 ND —
_ =@ e F—(F)iH & 2km HIE ND =
Pu238 | mBa/L BER R R0 2km ; lhks ND =
WEE - BIE ) 2km A ND —
FZEFmBokO ND ND —
FZ@FHAroko ND ND —
E—FEBkO HIE B ND __~ 0014 —
E—F)kKkO AE R ND __~ 0.4 =
%’—gé)iszkn EI}E 3 ND___~ 00l —
_ =m e FE— () E2km BIE ND  ~  0.009 ND  ~  0.009
Pu-239+240| mBa/2 Rk %R - BE)IH2km AEF ND___~ 0008 =
W - I E)IH2km AE R ND  ~ 001 —
F_FmBokO ND 0.008 ~ 0011 —
F£_(F)dmoukO ND ND ~ 002 —
E—F)mBukO 160 76 ~ 210 ND
F—@Fdoko 78 93~ 290 ND
F—F)EUKkO 130 140~ 450 ND
P! F—(F)iH & 2km 76 10~ 130 ND
- %ﬁfﬂ'ﬁﬁ“li‘l’;km 12 11 ~ 60 ND
- INEE - BT H2km 8.1 14 ~ 75 —
Co134 | Ba/kefl % —(FmmkO 33 0~ 220 ND
F_(F)dmokO 18 22 ~ 74 ND
EeE— FROK O 4 83 65 ~ 1200 ND
ek O R 72 120~ 710 ND
EEE— EBoka 32 43~ 200 ND
ek 17 24 ~ 140 ND
F—FmBokO 580 210~ 580 ND
F—F)dmBokO 290 280 ~ 580 ND
F—F)EUkO 490 470 _ ~ 1,000 ND
P! F—(F)iH & 2km 28 32  ~ 380 ND
- *ﬁfﬂ'ﬁﬁ“li‘l’;km 45 37 ~ 150 ND
- WZE - A1) 2km 30 49~ 240 —
Co137 | Ba/kefs % —(FmmukD 130 130~ 470 ND__ ~ 03
F_(F)dmokO 68 71 ~ 150 ND
EEE— EROK O A 320 210~ 1,800 ND  ~ 065
ek O R 270 280 ~ 1,100 ND
ERE— Eroka 120 120~ 360 ND ~ 061
ek 65 75 ~ 250 ND ~ 062
%’—(;)ig;ﬁ =] 0.29 ND  ~ 049 —
5 F—EF)dmokO ND ND ~ 036 —
BELRY F—F)EwkO 0.27 ND  ~ 1.2 ND
EeE E—F)HE2km 0.32 ND  ~ 028 ND
- iﬁfR'ﬁ?llliqﬂékm ND ND ~ 024 ND
_ W - Bl 2km ND ND  ~ 0.26 —
Sr90 | Ba/kefl E—(FOmBukD ND ND _ ~ 021 =
E_(F)dmoukO ND 9.1 ~ 19 —
*E»%%_ FEROK O 4 - 4.1 ~ 22 ND ~ 0.17
JEk O R — 9.1 ~ 19 —
= e — EmokOd — ND =
RR%E- JeHokD = ND ND__~ 015
F—FmBkO ND ND —
F—F)dmokO ND ND —
%’—(%%)izkn ND ND —
_ = e F—(F)HE2km ND ND —
Pu-238 | Ba/kett maR xR BEJI[R2km ND ND =
WEE - AT 2km ND ND  ~  0.020 —
£ ZFmBokO ND ND —
FEZ@F4roko ND ND =
F—FmBokO 0.27 0080 ~ 032 —
F—Fdroko 0.14 0090 ~ 032 —
%’—gé)iszkn 0.32 027 ~ 031 015 ~ 043
_ =& e E—F)HE2km 0.35 036 ~ 057 028 ~ 048
Pu-239+4240 | Ba/kg¥sz BER ER- B2 )1 2km 0.39 034 ~ 044 =
WEE - /1)1 2km 0.39 031~ 049 —
F_FmokO 0.17 025 ~ 031 —
F-Fdemokna 0.14 021~ 026 —




SHEOHE ER®ROE ERATI0ER D E
HHE4A % B H#E8 HEA
3 ~ SERX22(H23.3.11 L) ERI3EE
FRL2744~6R ~26EEEAMER | ~22%B(H23.3.10)
LWhEh Azl ND ND 19 —
HATH &8 ND ND  ~ 26 —
EPET _EdbE ND ND _ ~ 95 ND
[FEL V- 93 50 ~ 300 ND
= AT TARL 32 40  ~ 240 ND
JIRA EJIIA ND ND  ~ 12 —
KHERT KR 360 540 ~ 3,900 ND
wEE KEERT KR ND 27 ~ 440 ND
pEL I 190 360  ~ 2,100 ND
Cs-134 Ba/kgE SEUTHT Jbgthis ND - —
EEH 1R 26 = =
miEET AR ND ND  ~ 52 —
BRIEF BRE 130 140~ 570 —
REEM RIE 52 110~ 520 —
J=ET LWKE 20 31 ~ 140 =
P MP—3{HiE 330 440  ~ 27,000 ND
BEEERE 680 580 _~ 220,000 ND
EEE— BIER{TR 16 11~ 12,000 ND
wa JLERAHR 27 24 ~ 17,160 ND
LWhEh AZE ND 93  ~ 41 —
HAT &8 ND 13 ~ 55 —
BT _EitE 12 9.0 ~ 190 ND  ~ 1.2
[FEL - 320 110~ 870 ND ~ 092
=R TANL 140 120~ 520 ND  ~ 004
AR EINN ND ND  ~ 29 —
B KEEET KR 1,300 1400 ~ 8400 ND  ~ 007
=EER KEERT KR 40 65 ~ 990 ND ~ 008
IEERT ERLL 770 1300  ~ 4500 ND  ~ 0.4
Cs-137 Ba/keE JRITHET JpstHis 17 - -
EEM #HE 96 — —
miEET ER 20 12 ~ 120 —
SREEA FRT 490 440 ~ 1,100 —
REEH RIE 210 290 ~ 1,000 —
JIHRET (WKER 71 120~ 310 —
EEE— MP—3{HiE 1,300 1600 ~ 39,000 ND  ~ 004
BEEEEME 2,600 1400  ~ 310,000 ND  ~ 0.14
EEE— AER MR 49 28 ~ 17,000 ND ~ 005
_ LR R 110 71 ~ 22840 ND __~  0.06




—_ - i " SHEOHE ER®ROE HRAT104ER D IE
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3 %22 (H23.3.11 LAB%) 13
FR2144~6R i | ~oramea10)
Dh=mh A2k 57 4~ 100 =
AT fa 410 220 ~ 1,300 —
LEPET TF4bE 150 140~ 2,100 ND
RIERT RE 560 750 ~ 3,800 ND
SEE /NE 13 10~ 12,000 ND
NAF ENA 160 73~ 330 —
. _ KHEEHT KR 30,000 44000 ~ 230,000 ND
Ba/kgi =EE WEEET ERiL 7,700 2,700 ~ 43,000 ND
JRITHT JbiHis 300 360  ~ 1,600 ND
EEH E 6,000 1,600 ~ 5600 —
BHEET AR 1,800 130~ 4400 —
Cs—134 HHEET B 1,700 2200 ~ 9,200 —
fREEH BRE 450 230~ 11,000 —
REEM RIE 2,900 5900 ~ 7,800 —
NIRRT (LARE 1,200 180~ 2,100 —
E] 110,000 45,000 ~ 330,000 ND
EEE— KREERTEH L 31,000 4900 ~ 78,00 ND
xzmﬁgm 25,000 25000 ~ 69,000 ND
WEEETERIL 1,300 1400  ~ 2300 ND
Ba/kekt B 1,400 490 ~ 3200 ND
EE®E= WERLRE 1,400 970 ~ 2,100 ND
- = BB/ E 1,500 1,400  ~ 2,400 —
= [l BT T &Rl 91 1100 _~ 9,000 ND
Wh&Eth AZIE 220 130~ 230 —
Mih Toa 1,600 1100~ 1,200 —
LEFET TFiE 590 170~ 3,200 ND
WER RE 2,200 2000 ~ 6,800 ND
= REAT /NVE 50 32 ~ 17,000 ND
AR _EINA 650 200  ~ 1,200 —
. _ REERT KR 120,000 100,000 ~ 310,000 ND
Ba/kgiE =EER ELIEE 30,000 3,100  ~ 59,000 ND
RITHT JbtHis 1,200 1,100 ~ 1,900 ND
BEHM MR 24,000 4600 ~ 14,000 —
EHET BR 7,300 190~ 13,000 —
Cs—137 HHRET EiS 6,700 6,100 ~ 14,000 —
BREER BRE 1,700 770~ 26,000 —
REH EIE 12,000 14000 ~ 28,000 —
JIHRET (WKER 4,700 2400 ~ 5300 —
iR 390,000 220,000 ~ 680,000 71~ 28
EEE— AEERT T &L 110,000 13000 ~ 170,000 24  ~ 15
= A HERTRE)I 93,000 59,000 ~ 100,000 11 ~ 14
IRZERTERLL 4,800 2600 ~ 3700 94 ~ 15
Ba/kekt Hih A 5,200 1,200 ~ 7,000 11~ 12
EEE= BEMER 5,200 1,900 ~ 3,600 63  ~ 12
- = [t BT /N 5,800 4300 ~ 6,700 —
= [ BT T 2B LU 350 2900 ~ 15,000 78~ 15
REt Hith N — 160 ~ 210 0.77 2.1
ERE— KEERT T E — 8 ~ 13 —
Iﬁ‘ﬁqmﬁﬁlll — 14~ 10 —
_ TREERT AR LI — 4.1 ~ 7.4 —
Sr-90 Ba/kefz m%ﬁt@g = 27~ 39 4 28
=R ET/ _ 2.5 ~ 3.1 _
LLES = EET/NE = 55 =
= [E BT AR - 22  ~ 2.4 —
Hith N — ND =
S REERT & E — ND =
L jcﬁémﬁilll - ND =
_ IREERT AR LI — ND =
Pu-238 Ba/keg§z A — ND —
o s — WERLEE — ND —
LLES = EET/NE = ND =
E AT TR - ND —
xﬂg%&tmm — 019 ~ 022 —
= RERTFEF E — 024 ~ 0.31 —
BER K EERTREI] = 022~ 025 =
_ IREERTERLL — 035 ~ 039 —
Pu-2
u239+240| Ba/kett m%&t’mm% = 0i1_~__0.6 =
= s — ER 4 — 028 ~ 031 —
mE%E= S EET/NE = 0.30 =
E AT TR — 024 ~ 028 —
xﬁgﬂzﬂm — 012~ 12 —
e REBT T &b — 019 ~ 068 —
BER xgmﬁ.ﬁ.m = 018~ 045 =
WREEETERLL — 016 ~ 098 —
Am-24
241 | Bo/keRt mgmgg = 0098~ 041 =
o s — RS — 0088 ~ 036 —
BA%= FAEETY S - 015 =
= [ ET T AL — 0097 ~ 043 -
Eih A — ND —
= REERT & E — ND —
L AR = ND =
_ FEERTARLL — ND —
Cm-242 Ba/kg§z bR — ND —
o s — WEALEE — ND —
LLES = T/ E = ND =
=[BT ARl — ND —
xﬁ?ﬂuﬁm — 0019 ~  0.049 —
5 HERT FEF E — ND —
it KAEHT R = ND =
_ IEERTERLL — ND =
Cm-244 Ba/kgkz A — ND —
o s — WERDRE — ND —
wRE= = EET/NE = ND =
ND
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